fmmm AT B S AN EX

BE: 1F, B3R W12, iZ&: P001-1 [C:58,Y1:118] , #&&K: (246.0+126.0)=372.00 cm, #&&:450 cm
#4 EEFH(FE14E)
BEERE(EX)—ME-+ EE1450+[151£]48=498.00
FEHER(5148)= 498.00*[% #]22/100= 109.56 M
#4 K H(E148)
K RE(BEX)= 372+[##]Int(372/(8*100))*48+ [ HT B-Ld]1*[F3 [2]]12*37+[BE R AT 2 #8 A B(-Ld]37*2= 520.00
X #= [Int((450-5-5-[FF 5B HR#R]22.00)/20)+1)/100= 21 &
KPR (5B 148)= 520.00*[% £(]21/100= 109.20 M
#5 B O 58 E5:
1 F9: D4 [=32#58](((210+100*2)+(80+200))+[ 4 BB A 38]100* [/ £ 12)*[M3£]2/100= 15.80 M
LLE/NET=15.80 M
AR E:
KE:A
INER1HRIEE:(G1:60cm)=(L)10.00*(H)(450-60)*2/10000=0.78 M2
iy INER2:FRJER:(S2)=(L)236.00*(H):(450-20)*2/10000=20.30 M2
%2
INER1:RRER:(S2)=(L)116.04*(H):(450-20)*2/10000=9.98 M2
INER2:#RIEC:(B6:60cm)=(L)10.00*(H)(450-60)*2/10000=0.78 M2
M EBFEERRFT: 31.84 M3
P9 &5 BY O AR hR 0 BR:
1. F9(D4):80*210*2[{8]/10000=3.36
$42:(80+210%2)*12/10000=0.60
P98 B O &R R H1BR /N ET: 3.36 M2
P985 B O £ 48 =48/ §1: 0.60 M2
s AR/ ET: 31.84-[F9 % $013.36-[ B H1 B 0 $0]0.00+[P9 & £45]0.60-+[ B H1 B O £45]0.00-[ {81 7 2 $£$0]0.00=29.08 M2
RCEH&:
KEk:A
INER1HRIES:(G1)=(L)10.00%(H):(450-60)*(t)12/1000000=0.047 M3
iy INER2ARIES:(S2)=(L)236.00*(H):(450-20)*(t)12/1000000=1.218 M3
%2
INER1RRIES:(S2)=(L)116.04*(H):(450-20)*(t)12/1000000=0.599 M3
NER2:HRIE:(B6)=(L)10.00%(H):(450-60)*(t)12/1000000=0.047 M3
LU EAEEERC/MET: 1.910 M3
F9 % B8 O RCHIBR:
1.F9(D4):80*210*12/1000000=0.202
P9 25 B O RCHIBR/DNET: 0.202 M2
RC/INet: 1.910-[F9 & B ARC]0.202-[ E Fa B ARC]0.000= 1.709 M3
-------------- B =1 )y S—
88 A5/ ET(HRFE O LI 30 BR 8 ): (8B Ok 451:0.1003)
#4=218.76 M*(1-0.1003)=196.81 M (196.81 M*0.994/1000= 0.1956 T)
B ORI ED 2 /NET (I 2 T4 FBREA O LL )
#5=15.80 M (15.80*1.560/1000= 0.0246 T)
A DEH(EEH+EMRET) = 0.2203 T
HERR/NET = 29.08 M2
B /NET=1.709 M3
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